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How to add a game-content to the network-game model structure: an example
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Abstract

This paper presents how to add a game content to the network-game model structure
(developed by the author) with an AV shop example.
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<HTML>

<HEAD>

<META HTTP-EQUIV="Content-Type" CONTENT="text/html; charset=shift_jis">
<TITLE>Application variable list</TITLE>

<STYLE TYPE="text/css">

</STYLE>

</HEAD>

<body bgcolor="#ffffff">

47— AID Application ("gameid") = <%= Application ("gameid") %><br>

¥4 7 Vv  Application ("cyclelmt") = <%= Application ("cyclelmt") %><br>
AJIHEWE  Application ("inspan") = <%= Application ("inspan") %> 4*<br>
SIS  Application ('seespan") = <%= Application ("seespan”) %> 4<br><br>

¥4 7 V&5 Application ("cycleno") = <%= Application ("cycleno”) %><br>

E€— F&% Application ("pmode") = <%= Application ("pmode") %><br>
fEYIEEZl  Application ("timelmt") = <%= Application ("timelmt") %><br>
RO RZ Application ('nextlmt") = <%= Application ("nextlmt") %><br><br>

2InE# Application ("joinsize") = <%= Application ("joinsize") %><br>
MHEE Application ("donesize") = <%= Application ("donesize") %><br>
ZMIRIE  Application ("s1") = <%= Application("s1") %> 2 LA EIZBi&E<br>
ZM&E S  Application ("joinno") = <%= Application ("joinno") %><br>

I 5 —< — 7 Application ("errsw'") = <%= Application ("errsw") %><br><br>
<HR>

" — A NERAFE B <br><br>

* &7 LY — Il fE<br>

FEARFEEME Application ("bdemand") = <%= Application ("bdemand") %><br>
IN=EYIES Application ("adeff") = <%= Application ("adeff") %> %<br><br>
BS#I{E 1  Application ("initl") = <%= Application ("initl") %><br> .
BSH#I#ME 2 Application ("init2") = <%= Application ("init2") %><br>

& 78 > #.# FH Application ("fixexpns") = <%= Application ("fixexpns") %><br>

1 EA1EF%  Application ("depress") = <%= Application ("depress") %><br>
EHE Esw Application ("asetsw") = <%= Application ("asetsw") %><br>
PEMEME  Application ("bsspan") = <%= Application ("bsspan") %><br><br>
* VY —EICELT B E (BT — %) <br><br>

TERSEHEH<br>

564 B @56 L Application ("sv0") = <%= Application ("sv0") %> #<br>
FeAo5e . Application ("svl") = <%= Application ("sv1") %><br><br>

BHY A4 72 VomiifE<br>
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Bé&
TS
ZHFE 1
SZHFIE 2
T E
Hit&
A%
+HBH#1
+5% 2
+HB%# 3
+BH#4
+HEH5

Application ("j1") = <%= Application("j1") %> F-FH<br>
Application ("j2") = <%= Application ("j2") %><br>
Application ("j3") = <%= Application ("j3") %><br>
Application ("j4") = <%= Application ("j4") %> &H A%&<br>
Application ("j5") = <%= Application ('j5") %><br>
Application ("j6") = <%= Application ("j6") %><br>
Application ("j7") = <%= Application ("j7") %><br><br>
Application ("j11") = <%= Application ("j11") %> 4 H<br>
Application ("j12") = <%= Application ("j12") %> ¥&H<br>
Application ("j13") = <%= Application ("j13") %><br>
Application ("j14") = <%= Application ('j14") %><br>
Application ("j15") = <%= Application ("j15") %><br><br>

Y4 7 v dDdecisionds £ <br>

e 5
JE A
BRI B A
HAEE
i A Y IR
EHAKE
EATER
SRR TEAEL
EBRFIE R
BIIEEA
I ¢
SAFIR.

Application ("d1") = <%= Application ("d1") %> 0934 1.1:FE<br>
Application ("d2") = <%= Application ("d2") %> 1.4 9 <br>
Application ("d3") = <%= Application ("d3") %><br>
Application ("d4") = <%= Application ("d4") %><br>
Application ("d5") = <%= Application ("d5") %><br><br>
Application ("r1") = <%= Application ("r1") %><br>
Application ("r2") = <%= Application ("r2") %><br>
Application ("r3") = <%= Application ("r3") %><br>
Application ("r4") = <%= Application ("r4") %><br>
Application ("r5") = <%= Application ("r5") %><br>
Application ("r6") = <%= Application ("r6") %><br>
Application ("r7") = <%= Application ("r7") %><br><br>

A2 NVHRIIZEBILLIEYE R4 72 VouBifEs 7= 5) <br>

KBLE
RITH G

Application ("n1") = <%= Application ("n1") %><br>
Application ("n2") = <%= Application ("n2") %><br>

KZHFH 1 Application ('n3") = <%= Application ("n3") %><br>
WZBFF 2 Application ('nd") = <%= Application ("nd") %><br>

RIEELE Application ('n5") = <%= Application ("n5") %><br>
KE#HE Application ("n6") = <%= Application ("n6") %><br>
WAL Application ('n7")= <%= Application ("n7") %><br><br>
®+HB# 1 Application ('nl11") = <%= Application ('n11") %><br>

kK +EE 2  Application ('nl12") = <%= Application ('n12") %><br>
K+E$ 3 Application ("'n13") = <%= Application ('n13") %><br>
K+E¥ 4  Application ('n14") = <%= Application ("n14") %><br>
®K+E%5 Application('nl5") = <%= Application ('n15") %><br><br>
BB R EE<br>

PmIEEZE  Application ("bsl") = <%= Application ("bs1") %><br>

[ %2 & e B Application ("bs2") = <%= Application ("bs2") %>

(&7 V¥ —1i@) <br>
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MBLE[ 244 Application ("bs3") = <%= Application ("bs3") %><br>

BEARE Application ("bs4") = <%= Application ("bsd4") %> (&7 L ¥ —3t@E) <br>
MBEFIZE  Application ("bs5") = <%= Application ("bs5") %><br>

FAIZEBEE]  Application ("bs6") = <%= Application ("bs6") %><br>

e L RET Application ("ecm1") = <%= Application ("em1") %><br>

HARET  Application ("em2") = <%= Application ("cm2") %><br>

BHRET  Application ("em3") = <%= Application ("cm3") %><br>

5e LARRET  Application ("tsales") = <%= Application ("tsales") %><br>

</body>

</html>

JZX b2 45— LBRZEOHETE gamesetting.asp

<HTML>
<HEAD>
<META HTTP-EQUIV="Content-Type" CONTENT="text/html; charset=shift_jis">
<TITLE>%>"— AR DR E</TITLE>
<STYLE TYPE="text/css"™>
</STYLE>
</HEAD>
<BODY><br>
Fr Lo — 2 OB E <br><br>
BHE—NF5:
<%= Application ("pmode") %><br><br>
<% ' BARREEZ LTH RO
If Application ("pmode") < 90 Then
Response. Write ("BE— Fid57 — A BIER BICIEAE Y TT o <br><br>")
Response.Write (" (RO 7 — A DSEFTEFOTEEEYRDH D F5,) ")
End If
If Request.Form ("yn") ="y" Then
" — LB DORE
Application ("pmode") =0
Application ("joinsize") = 0
Application ("donesize") = 0
Application ("cycleno") = 0
clmt = CInt (Request.Form ("ncyclel"))
Application ("cyclelmt") = clmt
Application ("inspan") = Clnt (Request.Form ("inspanl"))
Application ("seespan") = CInt (Request.Form ("seespan1"))
min2 = Request.Form ("min1")
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h1l = Hour (Now)
ml = Minute (Now)
nowl = DateValue Now) + TimeSerial (h1,m1,0)
Application ("timelmt") = DateAdd ("n", min2, now1l)
Application ("nextlmt") = DateAdd ("n", Application ("inspan"), Application ("timelmt"))
yy = Year (Application ("timelmt") )
mm = Month (Application ("timelmt") )
dd = Day (Application ("timelmt"))
ymd = Dateserial (yy, mm, dd)
Application ("gameid") ="g" & ymd & "_" & Hour (Application ("timelmt"))
innl = Request.Form ("in1")
inn2 = Request.Form ("in2")
inn3 = Request.Form ("in3")
inn4 = Request.Form ("in4")
inn5 = Request.Form ("in5")
inn6 = Request.Form ("in6")
innll = Request.Form ("in11")
innl2 = Request.Form ("in12")
inn13 = Request.Form ("in13")
innl14 = Request.Form ("in14")
inn15 = Request.Form ("in15")
innl6 = Request.Form ("in16")
inn21 = Request.Form ("in21")
inn22 = Request.Form ("in22")
inn23 = Request.Form ("in23")
trendl = Request.Form ("trend")
patl = Request.Form ("pat")
Application ("bsspan") = CInt(Request.Form ("bsspan"))
Application ("depress") = CInt (Request.Form ("depress"))
Application ("fixexpns") = CInt (Request.Form ("fixexpns"))
Application ("bs2") = 0 + inn5 + inn6
Application ("bs4") = Clnt (inn14)
aryl = Array (" ",inn1,inn2,inn3,inn4,inn5,inn6)
ary2 = Array (" "innll,inn12,inn13,inn14,inn15,inn16)
Application ("init1") = join (aryl,"")
Application ("init2") = join (ary2,"")
"IAEMROKE I RS
Application ("adeff") = inn22
"BV A I NVOERBEEREE
dlist =™
If trendl = "1" Then

%

R
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Fori=1 to clmt
dlist = dlist & "" & inn21
Next
Elseif trendl = "2" Then
val = inn21 + 0
If patl = "1" Then
sa =inn23 + 0
Fori=1 to clmt
sval = CStr (val)
dlist = dlist & "" & sval
val = val + sa

Next
Else
For i =1 to clmt
hi = inn23 + 0

sval = CStr (int (val))
dlist = dlist & "" & sval
val = val * (1 + hi/100)
Next
End If
Elseif trendl = "3" Then
val = inn21 + 0
If patl ="1" Then
sa = inn23 + 0
Fori=1 to clmt
sval = CStr (val)
dlist = dlist & "" & sval
val = val - sa

Next
Else
Fori=1 to clmt
hi =inn23 + 0

sval = CStr (int(val))
dlist = dlist & "" & sval
val = val * (1 - hi/100)
Next
End If
Else
Response.Write "RE ML ¥ FEEEL T ")
End If
Application ("bdemand") = dlist

170(286)



AV NT =27 « F—LABEEFNADF =L - 2T VA RAEF (F1LREE)

' BHEOEMIREEZ )T

sql = "update user set joinno="& 0& ", drop =" & "0" &
Set adoConn = Server.CreateObject ("ADODB.Connection")
Set adoRecs= Server.CreateObject ("ADODB.Recordset")
adoConn.Open "netgame"

"non

adoConn.Execute sql
adoConn.Close
End If
" ZF DM ApplicationZ & I L
Application ("errsw'") = 0

Application ("j1")=""
Application ("j2")=""

nn

Application (j3") =

Application ("j4")=""

Application (j5") =
Application ('j6") =

nn

nn

Application ("j7") =
Application ("j11")=""
Application ("j12")=""
Application ("j13")=""
Application ("j14")=""
Application ('j15")=""
Application ("d1")=""
Application ("d2")=""
Application ("d3")=""
Application ("d4")=""
Application ("d5")=""

nn

Application ("r1") =

nn

Application ("r2") =

"nn

Application ("r3") =

nn

Application ("rd") =

trn

Application ("r5") =

nn

Application ("r6") =

nn

Application ("r7") =

nn

Application ("s1") =

nn

Application ('n1") =

i

Application ("'n2") =

nu

Application ("'n3") =

nn

Application ("'n4") =

nu

Application ("n5") =

nu

Application ('n6") =
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nn

Application ("n7") =

nmn

Application ("n11") =

nn

Application ("n12") =
ApplicatiOn ("nl3”) —nn
Application ("n14")=""

Application ("'n15") =

non

Application ("sv0") =
Application ("sv1")=""
Application ("bs1")=""
Application ("bs3")=""
Application ("bs5")=""
Application ("bs6") =""

Application ("em1") =
Application ("cm2") =

Application ("cm3)=""
Application ("tsales)=""

Application ("asetsw") = 0

Session.Abandon

%>

<HR>

<FORM NAME="fm" METHOD="post" ACTION="gamesetting.asp">
<TABLE BORDER="0">

<TR>

<TD>pfhekE%Z LE 95 ? y/n: </TD>

<TD><INPUT NAME="yn" TYPE="text" VALUE="y"></TD>
</TR>

<TR>

<TD>7"—20% A 7 V¥ (RTETOEE) : </TD>
<TD><INPUT NAME="ncyclel" TYPE="text" VALUE="12"></TD>
</TR>

<TR>

<TD>ANJE—FOEZ (&) : </TD>

<TD><INPUT NAME="inspanl" TYPE="text" VALUE="2"></TD>
</TR>

<TR>

<TD>ZBE— FOREE (4) : </TD>

<TD><INPUT NAME="seespanl" TYPE="text" VALUE="2"></TD>
</TR>

<br><br>

<TR>

<TD>BUE (FMERE) »o&MA 8 E TORME (4) : </TD>
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<TD><INPUT NAME="minl" TYPE="text" VALUE="3"></TD>
</TR>

</TABLE><br>

BAEDRAIX

<%= Now %><br><br>

<HR>

HERENREORELR L

<br><br>

<TABLE BORDER="0">

<TR>

<TD>#4</TD>

<TD><INPUT NAME="in1" TYPE="text" VALUE="2200"></TD>
<TD></TD>

<TD>EH#&</TD> ,

<TD><INPUT NAME="in11" TYPE="text" VALUE="1200"></TD>
</TR>

<TR>

<TD>%#4</TD>

<TD><INPUT NAME="in2" TYPE="text" VALUE="1700"></TD>
<TD></TD>

<TD>f§ A&</TD>

<TD><INPUT NAME="in12" TYPE="text" VALUE="6000"></TD>
</TR>

<TR>

<TD>ZHFH#</TD>

<TD><INPUT NAME="in3" TYPE="text" VALUE="0"></TD>
<TD></TD>

<TD>Mi5| % 4</TD>

<TD><INPUT NAME="in13" TYPE="text" VALUE="280"></TD>
</TR>

<TR>

<TD>R4ai</TD>

<TD><INPUT NAME="in4" TYPE="text" VALUE="2700"></TD>
<TD></TD>

<TD>&A£&</TD>

<TD><INPUT NAME="in14" TYPE="text" VALUE="2000"></TD>
</TR>

<TR>

<TD>H##fm</TD>

<TD><INPUT NAME="in5" TYPE="text" VALUE="1600"></TD>
<TD></TD>
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<TD>##f2E &</ TD>
<TD><INPUT NAME="in15" TYPE="text" VALUE="240"></TD>
</TR>
<TR>
<TD>#&EH</TD>
<TD><INPUT NAME="in6" TYPE="text" VALUE="1800"></TD>
<TD></TD>
<TD>4 A2k </TD>
<TD><INPUT NAME="in16" TYPE="text" VALUE="280"></TD>
</TR>
</TABLE><br> :
1 Bl DBl tE 0 %E <INPUT NAME="depress" TYPE="text" VALUE="300"><br>
BEBEH %4 7L <INPUT NAME="fixexpns" TYPE="text" VALUE="530"><br><br>
138 H7-) D% A4 7 Vvt <INPUT NAME="bsspan" TYPE="text" VALUE="6"><br><br>
<HR>
TERBELILEDHROKE & <br><br>
EARFEOWMIME <INPUT NAME="in21" TYPE="text" VALUE="700"><br><br>
IEERROKAKE X (%) <INPUT NAME="in22" TYPE="text" VALUE="15"><br><br>
TEOHR : <br><br>
X <INPUT TYPE = "radio" NAME="trend" VALUE = "1" Checked>
& <INPUT TYPE = "radio" NAME="trend" VALUE = "2">
TF <INPUT TYPE = "radio" NAME="trend" VALUE = "3"><br><br>
LR (& M) &, ¥4 27 VvdHi ) 0L - <br><br>
2t () <INPUT TYPE = "radio" NAME="pat" VALUE = "1" Checked>
ZEAL®E (%) <INPUT TYPE = "radio" NAME="pat" VALUE = "2"><br><br>
B E, % <INPUT NAME="in23" TYPE="text" VALUE="10"><br><br>

<INPUT TYPE="submit" VALUE="§%5&">
</FORM>
<br><br>
</BODY>
</HTML>

JAR3 HF—L-32F72Y [LA-FEOEE] OMAAHKICEYENL 82
(BSIREY X b DENES ICXTT)

<1 A b3 informla>

#1

<%

in1 = split (Application ("init1"),"")
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in2 = split (Application ("init2"),"")
%>

<HR>
F—AOMPEIZRD X 5 2o TWET, <br><br>
<TABLE>

<TR>

<TD>¥4&</TD>
<TD><%=in1(1) %></TD>
<TD> | </TD>
<TD>EH#4£</TD>
<TD><%= in2(1) %></TD>
</TR>

<TR>

<TD>3E#4&</TD>
<TD><%= inl1(2) %></TD>
<TD> </TD>

<TD>f§ A&</TD>
<TD><%= in2(2) %></TD>
</TR>

<TR>
<TD>%WFH¥</TD>
<TD><%= inl1(3) %></TD>
<TD></TD>
<TD>MWBi5|44</TD>

- <TD><%= in2(3) %></TD>
</TR>

<TR>

<TD>Raah</TD>
<TD><%= inl (4) %></TD>
<TD></TD>
<TD>&A%£</TD>
<TD><%= in2(4) %></TD>
</TR>

<TR>
<TD>{t#&fm</TD>
<TD><%= inl (5) %></TD>
<TD></TD>
<TD>#BAEE</TD>
<TD><%= in2(5) %></TD>
</TR>

<TR>
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<TD>HE&EW</TD>
<TD><%= inl1(6) %></TD>
<TD></TD>
<TD>%Hi#iF]2z</TD>
<TD><%= in2(6) %></TD>
</TR>

<TR>
<TD>1EE#HE</TD>
<TD><% = int(in1(4)/15) %></TD>
<TD></TD>

</TR>
</TABLE><br><br>

# 2

<TABLE BORDER="0">

<TR>

<TD>WR5EH ¥ : </TD>

</TR>

<TR>

<TD>  B&%5%</TD>

<TD><INPUT TYPE = "radio" NAME="sale" VALUE = "0.9"></TD>
<TD> #58</TD>

<TD><INPUT TYPE = "radio" NAME="sale" VALUE = "1"></TD>
<TD>  F¥35E</TD>

<TD><INPUT TYPE = "radio" NAME="sale" VALUE = "1.1"></TD>
</TR>

<TD>LE5DEE . </TD>

</TR>

<TR>

<TD> H3</TD>

<TD><INPUT TYPE = "radio" NAME="ad" VALUE = "1"></TD>
<TD> H & 2 w</TD>

<TD><INPUT TYPE = "radio" NAME="ad" VALUE = "0"></TD>
</TR>

</TABLE><br><br>

<TABLE BORDER="0">

<TR>

<TD>BEFIGEH : </TD>

<TD><INPUT NAME="dai" TYPE="text" VALUE="4"></TD>
</TR>

<TR>
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<TD>4: AMEL : </TD>

<TD><INPUT NAME="invol" TYPE="text" ></TD>
</TR>

</TABLE><br>

<1J A M4 modeltol>

#3

inn = split (Application ("bdemand") ,"")
svoll = inn (1)

inn = split (Application ("init1") ,"")

' EmESHE T EEREICER

zaikosu = Cstr (int (inn (4) /15))

" ER

St: nn

"
Zr =

inl =""
in2=""
ing =""
ind=""

n = Application ("joinsize")
in5 = CStr (svoll * n)

ing=""

fori=1ton
st=st&""
zr=zr&"" &"0"
inl =inl &"" & inn(1)
in2=in2 &"" & inn(2)
in3 =in3 & "" & inn(3)

ind =ind &"" & inn(4)

in5 =in5 & "" & svoll

in9 =in9 & "" & zaikosu
next

Application ("null") = st
Application ("zero") = zr
Application ("j1") = inl
Application ("j2") = in2
Application ("j3") =in3
Application ("j4") = zr
Application ("j5") =1in9
Application ("bs1") = in4
Application ("sv0") = in5
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Application ("sv1") = in5
inn = split (Application ("init2") ,"")

in]_ — nn
inz - nn
1n3 _ nn

nn

ind =
in6=""
fori=1ton
inl =inl &"" & inn(1)
in2=in2 &"" & inn(2)
in3 =in3 &"" & inn(3)
in5 =in5 &"" & inn(5)
in6 =in6 & "" & inn(6)
next
Application ("bs3") = in3
Application ("bs5") = in5
Application ("bs6") = in6
Application ("j6") = inl
Application ('j7") = in2
Application ("j11") = zr
Application ("j12") = zr
Application ('j13") = zr
Application ("j14") = zr
Application ("j15") = zr
Application ("d1") = zr
Application ("d2") = zr
Application ("d3") = zr
Application ("d4") = zr
Application ("d5") = zr-
Application ("r1") = zr
Application ("r2") = zr
Application ("r3") = zr
Application ("r4") = zr
Application ("r5") = zr
Application ("r6") = zr
Application ("r7") = zr
Application ("s1") = zr
Application ('n1") = zr
Application ("'n2") = zr
Application ('n3") = zr
Application ('n4") = zr
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Application ('n5") = zr
Application ("'n6") = zr
Application ("n7") = Application ("j7")
Application ("'n11") = zr
Application ('n12") = zr
Application ("'n13") = zr
Application ('n14") = zr
Application ('n15") = zr
Application ("em1") = zr
Abpplication ("ecm2") = zr
Application ("cm3") = zr
Application ("tsales") = zr
Application UnLock

%>

#4
<% 7 — AEM % DBICEESR
Set adoConn = Server.CreateObject ("TADODB.Connection")
Set adoRecs= Server.CreateObject ("ADODB Recordset")

adoConn.Open "netgame"
adoRecs.Open "gamelog", adoConn, 3, 3, 2
adoRecs.AddNew
adoRecs ("gameid") .Value = Application ("gameid")
adoRecs ("cyclelmt") .Value = Application ("cyclelmt")
adoRecs ("joinsize") .Value = Application ("joinsize")
adoRecs ("bsspan").Value = Application ("bsspan”)
adoRecs ("init1") .Value = Application ("init1")
adoRecs ("init2").Value = Application ("init2")
adoRecs ("bdemand").Value = Application ("bdemand")
adoRecs ("adeff") .Value = Application ("adeff")
adoRecs ("fixexpns") .Value = Application ("fixexpns")
adoRecs ("depress").Value = application ("depress")
adoRecs.Update
adoRecs.Close
adoConn.Close

%>

<J A b5 informlb>

#5
salel = Request.Form ("sale")
adl = Request.Form ("ad")
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dail = RequestForm ("dai")
involl = Request.Form ("invol")

# 6
TITRCOBEHREZTF—=IBANINT S0 ?
If salel <>""and adl <>"" and dail <>"" and involl <> "" Then
Else
Application ("errsw") = 1
Response. Write "AFIIRNOEE 2 ) 3, BN, FHEEL TLZE0n<br><br>")
End If

#7
"HETHWEASORE
inl = split (Application ("j1"),"")
in2 = split (Application ("j2"),")")
in3 = split (Application ("j3"),""
in4 = split (Application ("j4"),"")
in5 = split (Application ("j5"),"")
in6 = split (Application (j6"),",")
in7 = split (Application ("j7"),")")
in21 = split (Application ("n1"),"")
in22 = split (Application ("'n2"),"")
in23 = split (Application ("n3"),"")
in24 = split (Application ("'n4"),"")
in25 = split (Application ("n5"),",")
in26 = split (Application ("n6"),"")
in27 = split (Application ("'n7"),"")
"EAREDZ I
sa = inl(jnol) - in6(jnol)
if sa < 0 Then
Response.Write "HAREDTI VA TE T A, BETT, <br><br>")
Response. Write ("Z D7 — A 2T TE T8 Ao <br><br>")
Application ("errsw") =1
wtrl (jnol) ="9"
Else
in21 (jnol) = sa
in26 (jnol) =0
End If
End If
If Application ("errsw") = 0 Then
" 5o LARMED EIX
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in21 (jnol) = in21(jnol) + in2(jnol) + in3(jnol)
in23 (jnol) = in4 (jnol)
in22(jnol) =0
in24 (jnol) =0
Application ('n1") = join (in21,",")
Application ('n2") = join (in22,"")
Application ("'n3") = join (in23,")")
Application ("n4") = join (in24,")")
"L IR OFE R L
inl = split (Application ("d1"),""
in2 = split (Application ("d2"),"")
in3 = split (Application ("d3"),"")
in4 = split (Application ("d4"),"")
inl(jnol) = salel
in2(jnol) = adl
in3(jnol) = dail
in4 (jnol) = involl
Application ("d1") = join (in1,"")
Application ("d2") = join (in2,"")
Application ("d3") = join (in3,"")
Application ("d4") = join (in4,"")
" BRFIBEBROBIE
dail = dail + 0
If dail < 4 Then
Response. Write ("BF & HEHII4BZ THZ Z L IZTE FE Ao <br><br>")
dail = 4
End If
" ERRNHRENG R RE
maxdai = 4
sa = maxdai + 4 - dail
"HEEARIIRKFEENEREEL TWEH?
"HEEABREERFERRO/NI W (EBREH) % dai2 IZ5EHE
If sa < 0 Then
Response.Write ("BEF| & EHE FEERE THMEI LI LITTEFE Ao <br><br>")
dai2 = maxdai + 4
Else
dai2 = dail + 0
End If
AP ORLBLOEMERYD L6, SHOEEEH dai2 3FLBRLEREZHETE
B ?
in11 = split (Application ("j11"),"")
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sa = dai2 - 4 - in11 (jnol)

If sa < 0 Then
Response. Write "B B EBEZ BRI LB I LIZTE T E Ao <br><br>")
dai2 = 4 + in11(jnol)
sa=0

End If

"sa>0: BALVERSEME 25546, FEERPLOBLBLEREH L5GE,

ROFLE LLEAR L

If sa > 0 or in11 (jnol) >0 Then
in12 = split (Application ("j12"),"")
in13 = split (Application ("j13"),"")
in14 = split (Application ("j14"),"")
in15 = split (Application ("j15"),""
in31 = split (Application ("'n11"),"")
in32 = split (Application ("'n12"),"")
in33 = split (Application ('n13"),"")
in34 = split (Application ("n14"),"")
in35 = split (Application ("'n15"),"")
in31(jnol) = sa + in12(jnol)
in32(jnol) = sa + in13(jnol)
in33(jnol) = sa + inl14(jnol)
in34 (jnol) = sa + in15(jnol)
in35(jnol) = sa
Application ("n11") = join (in31,"")
Application ("n12") = join(in32,"")
Application ("n13") = join(in33,"")
Application ("n14") = join (in34,"")
Application ("n15") = join(in35,"")

End If

"TEEETTREMUE, AT REMEOERE

maxinvol = dai2 * 600 - in5 (jnol)

involl = involl+0

If involl > maxinvol Then

Response.Write ("FHEME2HANSL Z LIZTE TR Ao <br><br>")

invol2 = maxinvol

Else

invol2 = involl
End If
"EH#eoRtR

in26 (jnol) = int(invol2 * 1.5)
Application ("n6") = join (in26,"")
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EEREOTEH
in25 (jnol) = in5(jnol) + invol2
Application ('n5") = join (in25,"") :
CEBMEAKE, BAIGEE, BYAEH, LER IFBORE
inl = split (Application ("r1"),"")
in2 = split (Application ("r4"),"")
in3 = split (Application ("r5"),"")
in4 = split (Application ("r6"),"")
in5 = split (Application ("r7"),"")
inl (jnol) = invol2
in2 (jnol) = dai2
in3 (jnol) = (dai2 - 4) * 10
in4 (jnol) = 100 * adl
in5 (jnol) = int(in7 (jnol) * 0.01)
Application ("r1") = join (inl,",")
Application ("r4") = join (in2,",")
Application ("r5") = join (in3,",")
Application ('r6") = join (in4,"")
Application ("r7") = join(in5,",")

<J A M6 queryla>

#8

t1 = split (Application ("d1"),"")

t2 = split (Application ("d2"),"")

t3 = split (Application ("d3"),""

t4 = split (Application ("d4"),"")

t5 = split (Application ("r4"),"")

t6 = split (Application ("r1"),"")

t7 = split (Application ('n5"),"")

t8 = split (Application ("d5"),"")

k = CStr (t8())

%>

<HR>

ADENLBRRETF—FIZRO I HICUEENT Lz <br><br>

<%

If Application ("cycleno") > 1 Then
Response. Write ("Ri %1 7 VOMEAEHBAE © " & k & "<br><br>")

End If

%>

<TABLE>

<TR>
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<TD> </TD>
<TD>AJJfEi</TD>

<TD> | </TD>
<TD>{§IEfi</TD>
</TR>

<TR>

<TD>f5e 5k </TD>
<TD><%= t1(j) %></TD>
<TD> </TD>

</TR>

<TR>

<TD>n%E </TD>
<TD><%= t2(j) %></TD>
<TD> </TD>

<TD> </TD>

</TR>

<TR>

<TD>RF¥F|&E% </TD>
<TD><%= t3(j) %></TD>
<TD> </TD>
<TD><%= t5(j) %></TD>
</TR>

<TR>

<TD>HAHE </TD>
<TD><%= t4(j) %></TD>
<TD> </TD>
<TD><%= t6 (j) %></TD>
</TR>

<TR>

<TD>1JE#HE </TD>
<TD><%= t7(j) %></TD>
<TD> </TD>

</TR>
</TABLE><br><br>

<Y X M7 modelto2>

#9

<%

CEERSERE

inl = split (Application ("sv0"),"")
in2 = split (Application ("sv1"),"")
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in3 = split (Application ("bdemand"),"")
wtrl = split (Application ("s1"),"")
n = Application ("joinsize")
d = Application ("dropsize")
j = Application ("cycleno")
btdmd =in3(G) * n* 06 + (n-d) *04)
btdmd = int(btdmd + 0.9)
rtdmd = btdmd * 0.6 + in2(0) * 04
rtdmd = int(rtdmd + 0.9)
ratiod = rtdmd / (in1(0) * 0.4 + in2(0) * 0.6)
in4 = split (Application ("r2"),"")
" HZENDERFEL R
Fori=1lton

If wtr1 (i) =1 Then

in4 Q) = int((in1() * 04 + in2() * 0.6) * ratiod)

End If
Next
Application ("r2") = join (in4,"")
"ETVAX—-DERFE
t1 = split (Application ("d1"),"")
t2 = split (Application ("d2"),"")
t3 = split (Application ("r2"),"")
t4 = split (Application ("r3"),"")
t5 = split (Application ("n1"),"")
t6 = split (Application ("n2"),"")
t7 = split (Application ("n4"),"")
t8 = split (Application ("n5"),"")
t9 = split (Application ("r4"),"")
t10 = split (Application ("r5"),"")
t11 = split (Application ("r6"),"")
t12 = split (Application ("r7"),"")
tsales = 0
fori=1ton

If wtrl(Q) = 1 Then

hows =t1() + 0

svoll = t3(i) * hows * (1 + Application ("adeff") *

svoll = int (svoll)

svol2 = int (t8 (1) * 0.3)

If svoll < svol2 Then
t4 (i) = svoll

Else
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t4(i) = svol2
End If
tsales = tsales + t4 (i)
t8(1) = t8() - t4(0)
sales = int(t4(i) * 25)
If hows = 0.9 Then
t5(1) =t5(@) + sales
Elseif hows = 1 Then
t6 (1) = t6() + sales

Else

t7(1) = t7(1) + sales
End If
"BH O

t5(1) = t5G) - (530 + t10G) + t11() + t123))
Ift5(G) <0 Then
wtrl (i) =8
End If
End If

next
t4(0) = tsales
Application ("d1") = join (t1,"")
Application ("d2") = join (t2,"")
Application ("r2") = join (t3,"")
Application ("r3") = join (t4,"")
Application ('n1") = join (t5,",")
Application ('n2") = join (t6,"")
Application ("'n4") = join (t7,"")
Application ('n5") = join (t8,"")
%>

<J A M8 querylb>
# 10
tk = int (application ("cycleno") /application ("bsspan")) * application ("bsspan")
tk = application ("cycleno") - tk
If tk = 0 Then
Server.Execute ("kessan.asp")
End If

<Y X BM9 gresulta>

#11
<%
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j = Application ("joinno")
wtrl = split (Application ("s1"),"")
t1 = split (Application ("r2"),"")
t2 = split (Application ("r3","")
t3 = split (Application ("r5"),"")
t4 = split (Application ("r6"),"")
t5 = split (Application ("r7"),"")
t6 = split (Application ("r1"),"")
t7 = split (Application ("n5"),"")
sales = int(t2(j) * 2.5)
siire = int(t6(j) * 1.5)
tcost = 0 + Application ("fixexpns") + t3(G) + t4(G) + t5()
cml = split (Application ("em1"),"")
cm?2 = split (Application ("cm2"),"")
cm3 = split (Application ("cm3"),"")
cm9 = split (Application ("tsales"),"")
eml(G) = ecml1(j) + sales
cm2(j) = cm2(j) + siire
cm3(j) = cm3() + tcost
ecm9(G) = cm9() + sales
Application ("em1") = join(cm1,"")
Application ("em2") = join{(cm2,"")
Application ("em3") = join(cm3,"")
Application ("tsales") = join(cm9,",")
If wtrl1(G) = "8" Then
Response.Write ("B D70 OB SRR THEEL £ L7z | <br><br>")
wtrl(j) ="9"
Application ("s1") = join (wtrl,"")
End If
%>
<TABLE>
<TR>
<TD>ZARTFEME</TD>
<TD><%= t1(j) %></TD>
</TR>
<TR>
<TD>%EMR7eHE</TD>
<TD><%= t2(G) %></TD>
</TR> ‘
<TR>
<TD>3¢ h#&</TD>
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<TD><%= sales %></TD>
</TR>

<TR>
<TD>x¥E&EFH</TD>
<TD><%= tcost %></TD>
</TR>

<TR>

<TD>  A#-E%</TD>
<TD><%= Application ("fixexpns") %></TD>
</TR>

<TR>

<TD>  HEMSIBEMA</TD>
<TD><%= t3(j) %></TD>
</TR>

<TR>

<TD> JL&EE</TD>
<TD><%= t4(j) %></TD>
</TR>

<TR>

<TD>  Z#FE</TD>
<TD><%=t5(j) %></TD>

</TR>

<TR>

</TR>

<TR>
<TD>t A #</TD>
<TD><%= t6(j) %></TD>
</TR>

<TR>

<TD>H: A&4H</TD>
<TD><%= siire %></TD>
</TR> ,
<td>7EEM L </td>
<td><%= t7(j) %></td>
</TR>
</TABLE><br><br>

<) A F10 inform2a>
# 12
<%

j = Application ("joinno")
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t1 = split (Application ("n1"),"")
t2 = split (Application ("n6"),"")
t3 = split (Application ("n2"),"")
t4 = split (Application ("n7"),"")
t5 = split (Application ('n3"),"")
t6 = split (Application ('n4"),"")
t7 = split (Application ("'n5"),"")
%>

<HR>

BRI OMEIZRKRD LI IR >TWET, <br><br>
<TABLE>

<TR>

<TD>¥&</TD>

<TD><%= t1(j) %></TD>
<TD> | </TD>
<TD>E#4</TD>
<TD><%= t2(j) %></TD>
</TR>

<TR>

<TD> (A&¥=E) </TD>
<TD> </TD>

<TD></TD>

</TR>

<TR>

<TD>3#4</TD>
<TD><%= t3(j) %></TD>
</TR>

<TR>

<TD>ZWF¥ (4H) </TD>
<TD><%= t5() %></TD>
<TD></TD>

</TR>

<TR>

<TD>ZWF¥ (CkH) </TD>
<TD><%= t6(j) %></TD>
<TD></TD>

</TR>

<TR>

<TD> </TD>

</TR>

<TR>
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<TD>1E#H&E</TD>
<TD><%= t7() %></TD>
<TD> </TD>
<TD>fE A &%= </TD>
<TD><%= t4(j) %></TD>
</TR>
</TABLE><br><br>

#13

(Ri A 7 VERBEOBEHREEB] <br><br>

fEAEERAE (TH) : <INPUT TYPE = "text' NAME="debt" VALUE = "0">
(BRERSAL FA%D2IF5) <br><br>

<br> :

(DA 7 VvOREEB] <br><br>

<TABLE BORDER="0">

<TR>

<TD>W5Ee 5 + </TD>

</TR>

<TR>

<TD>  #4&5</TD>

<TD><INPUT TYPE = "radio" NAME="sale" VALUE = "0.9"></TD>
<TD> #5E</TD>

<TD><INPUT TYPE = "radio" NAME="sale" VALUE = "1" Checked></TD>
<TD> FH57R</TD>

<TD><INPUT TYPE = "radio" NAME="sale" VALUE = "11"></TD>
</TR>

<td>IEEDEE : </td>

</TR>

<TR>

<TD> M3 </TD>

<TD><INPUT TYPE = "radio" NAME="ad" VALUE = "1"></TD>
<TD> H & 22 vw</TD>

<TD><INPUT TYPE = "radio" NAME="ad" VALUE = "0" Checked></TD>
</TR>

</TABLE><br><br>

<TABLE BORDER="0">

<TR>

<TD>BRFIEER : </TD>

<TD><INPUT NAME="dai" TYPE="text" VALUE="4"></TD>
</TR>

<TR>
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<TD>f: A%k : </TD>

<TD><INPUT NAME="invol" TYPE="text" ></TD>
</TR>

</TABLE><br>

<J X p11 inform2b>
# 14
"TRCOBBRHIZTF—IFATENRT VSN ?
If debtl <>"" and salel <> "" and adl <>"" and dail <> "" and involl <>"" Then
Else '
Application ("errsw") =1
Response.Write "ANRNOEHEB S Y £3, EBME, FHREEL T ZIv<br><br>")
End If

# 15
"HETHIWE AESDORHE
in1 = split (Application ("j1"),"")
in2 = split (Application ("j2"),"")
in3 = split (Application ("j3"),"")
ind = split (Application ("j4"),"")
in5 = split (Application ("j5"),"")
in6 = split (Application ("j6"),"")
in7 = split (Application ("j7"),"")
in21 = split (Application ("n1"),"")
in22 = split (Application ('n2"),"")
in23 = split (Application ("n3"),"")
in24 = split (Application ('n4"),"")
in25 = split (Application ("n5"),"")
in26 = split (Application ("n6"),"")
in27 = split (Application ("'n7"),"")
A S DB
debt2 = 0 + debtl
in27 (jnol) = debt2 + in7 (jnol)
in21 (jnol) = debt2 + inl1 (jnol)
sa = 0 + in21 (jnol) - in6 (jnol)
If in21 (jnol) < 0 Then
Response. Write (" AZDEFTE T H A, BHETT, <br><br>")
Application ("errsw") =1
wtrl (jnol) ="9"
HEAREDIIN
Elseif sa < 0 Then
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Response Write "L ARED LI NBTE TR A BETT, <br><br>")
Application ("errsw") =1
wtrl (jnol) ="9"
Else
in21 (jnol) = sa
in26 (jnol) =0
End If
End If
If Application ("errsw'") = 0 Then
" 5e L EHE D EX
in21 (jnol) = 0 + in21 (jnol) + in2(jnol) + in3(jnol)
in23(jnol) = in4(jnol)
in22(jnol) =0
in24 (jnol) =0
Application ("n1") = join (in21,"")
Application ("n2") = join (in22,"")
Application ("n3") = join (in23,"")
Application ("n4") = join (in24,"")
Application ("n7") = join (in27,"")
"HREFEEINEOR EE RSk
inl = split (Application ("d1"),"")
in2 = split (Application ("d2"),"")
in3 = split (Application ("d3"),"")
in4 = split (Application ("d4"),"")
in9 = split (Application ("d5"),"")
inl1 (jnol) = salel
in2 (jnol) = adl
in3(jnol) = dail
in4 (jnol) = involl
in9 (jnol) = debtl
Application ("d1") = join (inl,")")
Application ("d2") = join (in2,",")
Application ("d3") = join (in3,"")
Application ("d4") = join (in4,"")
Application ("d5") = join (in9,"")
" BFIEERMOIBIE
dail = dail + 0
If dail < 4 Then
Response.Write ("BiF| B EEII4E %2 THAZ LI TE FH Aco <br><br>")
dail =4
End If
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" RARFEEINE R RE
maxdai = 4
sa = + 4 + maxdai - dail
"HREAHIIRKFEENEREZE L TWEH?
"HREABRLBERKTFEERO/NSVE (EBREH) % dai2 IFEEk
If sa < 0 Then
Response. Write ("BMFIEEBEFLEEHE THMEEL 2 LIZTEF A, <br><br>")
dai2 = maxdai + 4
Else
dai2 = dail + 0
End If '
"THEAPORLBLOEMBREYD 56, SAOEESH dai2 IRHLBLEREZHFATE
BT
in11 = split (Application ("j11"),"")
sa = dai2 - 4 - in11(jnol)
If sa < 0 Then
Response.Write "BFI GG E BRI E G5 Z L3 TE T H Ao <br><br>")
dai2 = 4 + inl11(jnol)
sa=0
End If ,
"sa>0: BRIVBEPENE 2556, TREAPLORLBLARYND 525G,
T ROFELE L LEARI T LS
If sa > 0 or in11(jnol) >0 Then
in12 = split (Application ("j12"),"")
in13 = split (Application ("j13"),"")
in14 = split (Application ("j14")"")
in15 = split (Application ("j15"),"")
in31 = split (Application ('n11"),""
in32 = split (Application ("'n12"),"")
in33 = split (Application ('n13"),"")
in34 = split (Application ("n14") " ")
in35 = split (Application ("n15"),"")
in31(jnol) = sa + in12(jnol)
in32 (jnol) = sa + in13(jnol)
in33 (jnol) = sa + in14 (jnol)
in34 (jnol) = sa + in15(jnol)
in35(jnol) = sa
Application ('n11") = join (in31,"")
Application ("'n12") = join (in32,"")
~ Application ("n13") = join (in33,")")
Application ('n14") = join (in34,"")
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Application ("n15") = join (in35,"")
End If -
TRV REACEL, AEATREMEOEHE
maxinvol = dai2 * 600 - IN5 (jnol)
involl = 0 + involl
If involl > maxinvol Then
Response Write (" EZMBEHEANS Z LIZTE T ¥ Ao <br><br>")
invol2 = maxinvol

Else

invol2 = involl
End If
"HES0RE

in26 (jnol) = int(invol2 * 1.5)
Application ("n6") = join (in26,"")
" HEEBEOEN
in25 (jnol) = in5(jnol) + invol2
Application ("n5") = join (in25,"")
CEBMABE, BYEEH, BSIAER, LEE ZHUFBORE
inl = split (Application ("r1"),"")
in2 = split (Application ("r4"),"")
in3 = split (Application ("r5"),"")
in4 = split (Application ("r6"),"")
in5 = split (Application ("r7"),"")
inl1 (jnol) = invol2
in2(jnol) = dai2
in3(jnol) = (dai2 - 4) * 10
in4 (jnol) = 100 * adl
in5(jnol) = int(in7 (jnol) * 0.01)
Application ("r1") = join(inl,"")
Application ("r4") = join (in2,"")
Application ("r5") = join(in3,"")
Application ("r6") = join (in4,"")
Application ("r7") = join (in5,",")

JX b4 REEOER Kessan.asp
<HTML>
<HEAD>

<META HTTP-EQUIV="Content-Type" CONTENT="text/html; charset=shift_jis">
<TITLE>$#E DO E}fi</TITLE>
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<STYLE TYPE="text/css">

</STYLE>

</HEAD>

<BODY><br>

kessan.asp<br><br>

<% j = Application ("joinno") %>

<%= "game-ID : " & Application ("gameid") %>
<%="¥4 7 V&S : " & Application ("cycleno") %>
<%="ZMEF : " &j & "<BR><BR><BR>" %>
<%

nnl = split (Application ("'n1"),"")

nn2 = split (Application ("n2"),"")

nn3 = split (Application ("n3"),"")

nn4 = split (Application ("n4"),"")

nn5 = split (Application ("n5"),"")

nn6 = split (Application ("n6","")

nn7 = split (Application ("n7"),"")

cml = split (Application ("em1"),"")

cm2 = split (Application ("em2"),"")

cm3 = split (Application ("em3"),"")

bsl = split (Application ("bs1"),"")

bs3 = split (Application ("bs3"),"")

bs5 = split (Application ("bs5"),"")

bs6 = split (Application ("bs6"),"")

wtrl = split (Application ("s1"),"")

" BLET A

cashl = 0 + nnl1(j) - bs3()

If cashl < 0 Then

Cave Y RBARER (LR

Response.Write ("BEXI VD720 DOBREFETHEL T L7z | <br><br>")

wirl (]) = "g"
Application ("s1") = join (wtrl,"")
End If

nnl(j) = cashl

Application ("n1") = join (nnl,"")

" REHBUEORE

ukete = 0 + nn3(j) + nn4(j)

zaiko = int(nn5 () * 1.5)

junsiire = 0 + bs1(§) + cm2(j) - zaiko
sales = 0 + cm1(j)

expns = 0 + cm3(j)

profitl = sales - junsiire - expns - application ("depress")
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if profitl < 0 Then

zeil = 0
junprfit = profitl
Else

zeil = int (profit1/2)
junprfit = profitl - zeil
End if
If application ("asetsw") = 0 Then
fixassetl = application ("bs2") - application ("depress")
application ("bs2") = fixassetl
application ("asetsw") =1
Else
fixassetl = application ("bs2")
End if
pastprofit = 0 + bs5(j) + bs6(j)
ltotal = cashl + nn2(j) + ukete + zaiko + fixassetl
rtotal = zeil + nn6(j) + nn7(j) + application ("bs4") + pastprofit + junprfit
%>
<HR>
B ER
<br><br>
<TABLE BORDER="0">
<TR>
<TD>#&</TD>
<TD><%= cashl %></TD>
<TD></TD>
<TD>E#4&</TD>
<TD><%= nn6 (j) %></TD>
</TR>
<TR>
<TD>5e#4</TD>
<TD><%= nn2(j) %></TD>
<TD></TD>
<TD>f§ A4</TD>
<TD><%= nn7(j) %></TD>
</TR>
<TR>
<TD>ZWFH¥</TD>
<TD><%= ukete %></TD>
<TD></TD>
<TD>##i5| % 4&</TD>
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<TD><%= zeil %></TD>
</TR>

<TR>

<TD>®m</TD>

<TD><%= zaiko %></TD>
<TD></TD>
<TD>%&A4</TD>
<TD><%= application ("bs4") %></TD>
</TR>

<TR>

<TD>HEE&E</TD>
<TD><%= fixassetl %></TD>
<TD></TD>
<TD>#g#Flix </ TD>
<TD><%= pastprofit %></TD>
</TR>

<TR>

<TD> </TD>

<TD></TD>

<TD></TD>
<TD>%##iFl4E</TD>
<TD><%= junprfit %></TD>
</TR> '
<TR>

<TD>#&#E</TD>
<TD><%= Itotal %></TD>
<TD></TD>
<TD>#EAR</TD>
<TD><%= rtotal %></TD>
</TR>

</TABLE><br>

<HR>

HEEETREEF<br><br>
<TABLE BORDER="0">
<TR>

<TD>%% E&</TD>
<TD><%= sales %></TD>
</TR>

<TR>

<TD>#itk A&%</TD>
<TD><%= junsiire %></TD>
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</TR>
<TR>
<TD>¥®XHEH</TD>
<TD><%= expns %></TD>
</TR>
<TR>
<TD>Wfffif§ £ %E </TD>
<TD><%= application ("depress") %></TD>
</TR>
<TR>
<TD>HBi5 | pi#tF) 4t </ TD>
<TD><%= profitl %></TD>
</TR>
</TABLE><br>
<HR>
<% 'DB~DEts%k
Set adoConn = Server.CreateObject ("ADODB.Connection")
Set adoRecs= Server.CreateObject ("ADODB.Recordset")
adoConn.Open "netgame"
adoRecs.Open "kessan", adoConn, 3, 3, 2
adoRecs.AddNew
adoRecs ("gameid") .Value = Application ("gameid")
adoRecs ("joinno").Value = j
adoRecs ("cycleno").Value = Application ("cycleno")
adoRecs ("cash") .Value = cashl
adoRecs ("urikake").Value = nn2(j)
adoRecs ("ukete") .Value = ukete
adoRecs ("zaiko") .Value = zaiko
adoRecs ("fixasst").Value = fixassetl
adoRecs ("kaikake").Value = nn6 (j)
adoRecs ("kariire") .Value = nn7 (j)
adoRecs ("zei") .Value = zeil
adoRecs ("sihon") .Value = application ("bs4")
adoRecs ("kurikosiprfit") .Value = pastprofit
adoRecs ("profit") .Value = junprfit
adoRecs ("sales") .Value = sales
adoRecs ("netsiire") .Value = junsiire
adoRecs ("totalexpend") .Value = expns
adoRecs ("depress") .Value = application ("depress")
adoRecs.Update
adoRecs.Close
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adoConn.Close
T BB E O E T
cml(G) =0
cm2() =0
cm3(G) =0
bsl(j) = zaiko
bs3 () = zeil
bs5 (j) = pastprofit
bs6 () = junprfit
Application ("cm1") = join(cm1,"")
Application ("em2") = join (cm2,"")
Application ("cm3") = join (cm3,")")
Application ("bs1") = join (bsl,"")
Application ("bs3") = join (bs3,"")
Application ("bs5") = join (bs5,"")
Application ("bs6") = join (bs6,"")
%>
</html>

JZP5 E—-FEEZTOEMBVEDHE timeasp

<HTML>
<HEAD>
<META HTTP-EQUIV="Content-Type" CONTENT="text/html; charset=shift_jis">
<TITLE>E— FE R F TORRE</TITLE>
<STYLE TYPE="text/css">
</STYLE>
</HEAD>
<BODY>
4 — AID:
<%= Application ("gameid") %>
YA 7 NVEE '
<%= Application ("cycleno") %><br><br>
<% nmode = Application ("pmode")
If nmode = 0 Then
Response.Write ("7 — A B HTF o <br><br>")
Elseif nmode = 1 Then
Response.Write (" AJJE— FT¥, <br><br>")
Elseif nmode = 2 Then
Response. Write ("Ri&+1€— FT9, <br><br>")
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Else
Response.Write ("7 — LA EITEF TIlEIH Y ¥ A, <br><br>")
End If
%>
<%="E— FEEFT, H& "%>
<%= DateDiff ("n" Now, Application ("timelmt")) %>
5TT (
<%= DateDiff ("s" Now, Application ("timelmt")) %>
#) <br><br> (A4 FADELR L, TTITE— FHFIEMLLTVET,) <br>
</BODY>
</HTML>

JZr6 FE—FREEOHUBFZIZEEFESICEE  timechng.asp

<HTML>
<HEAD>
<META HTTP-EQUIV="Content-Type" CONTENT="text/html; charset=shift_jis">
<TITLE>#tIRZ 0 E B </TITLE>
<STYLE TYPE="text/css"™>
</STYLE>
</HEAD>
<BODY>
' — ALID: ,
<%= Application ("gameid") %>

YA 7 NVES
<%= Application ("cycleno") %>

- FFH
<%= Application ("pmode") %><br><br>
<% nmode = Application ("pmode")
If nmode = 1 Then

Application ("nextlmt") = DateAdd ("n", Application ("seespan"), Now)
Else

Application ("nextlmt") = DateAdd("s", Application ("inspan"), Now)
End If
Application ("timelmt") = Now
%>
FEEIRER &2 B R (
<%= Now %>
) ICEE L. ORI % <br><br>

<%= Application ("nextlmt") %><br><br>
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ELF L7, <br>

</BODY>
</HTML>
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